Seat No.:

Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
Diploma Engineering - SEMESTER-I (CtoD) « EXAMINATION - WINTER « 2014

Subject Code: C300014
Subject Name: Basic of Electrical and Electronics Engineering
Time: 02:30 pm - 04:00 pm

Instructions:

Date: 23-12-2014

Total Marks: 70

1. Attempt all questions.
2. Make suitable assumption wherever necessary.
3. Each question is of 1 mark.
4. Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)
5. English version is authentic.
No. | Question Text and Option
Unit of flux density is
1. | A | Tesla B. Ampere/mm2
C. |[N/m’ D. | Weber/m’
Property of material which opposes the production of magnetic flux in it is known as
2. |A. | Mmf B. | Reluctance
C. | Permeance D. | Permittivity
Reluctance offered by magnetic circuit depends upon
3. | A. | Nature of magnetic material B. | Length of flux path
C. | Cross sectional area of material | D. | All of the above
Factors affecting resistance is/are
4. | A. | Length of conductor B. | Area of conductor
C. | Type of material D. | All of the above
Unit of emfis
5 | A | Watt B. | Volt
C. | Ampere D. | Ohm
Relative permeability pr of diamagnetic material is
6. | A. | Lessthanl B. | Zero
C. | Greaterthan 1 D. | Equaltol
Unit of electric charge (Q) is
7. | A. | Ohm B. | Ampere
C. | Coulomb D. | Tesla
Direction of magnetic field produced in current carrying conductor is given by
8. | A. | Right hand rule B. | Cork screw rule
C. | BothAand B D. | None of the above
Leakage factor for electrical machine is
9. |A |0-1 B. |1.15-1.25
C. |1.50-2.0 D. | Greater then 2
At constant temperature ratio of voltage to current is known as
10. | A. | Reluctance B. | Permeance
C. | Resistance D. | Conductance
Unit of current density is
11. | A. | Ampere/ meter B. | Ampere/ meter®
C. | Weber /meter” D. | None of the above
Best conductor amongst given material is
12. | A. | Aluminium B. | Zinc
C. [Tin D. | Copper
Magnetic field required to reduce residual magnetism to zero is called
13. | A. | Retentivity B. | coercivity
C. | Hysteresis D. | Saturation magnetism
14. | Standard frequency for ac power in India is
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A. | 50Hz B. | 60Hz
C. | 45Hz D. | 25Hz
RMS value of alternating current is given by
15. | A 0.5 linax B. I max/\3
C. I max2 D. I max
Form factor for alternating quantity is
16. |A. | 1.2 B. |244
C. |2 D. |1.11
Power factor in any ac circuit is given by
17. | A. | Sing B. | Cosg
C. | Tang D. | None of the above
Factor affecting coefficient of self inductance is/are
18. | A. | No of turns B. | Length of flux path
C. | Flux density D. | All of the above
Unit of inductance is
19. | A. | Ohm B. | Henry
C. | Weber D. | Tesla
A current is said to be direct current when its
A. | Magnitude remains constant with | B. | Magnitude changes with time
20. time
C. | direction changes with time D. | Magnitude and direction changes with
time
For purely resistive circuit phase difference between voltage and current is
21. | A 90 degree B. 45degree
C. 25 degree D. Odegree
Power factor of an ac circuit lies between
22. |A. |Oto1l B. |[-1to1l
C. |0to-1 D. | None of the above
For purely inductive circuit the phase difference between voltage and current is
23. |A. |0 B. | 90degree leading
C. | 90degree lagging D. | None of the above
Unit of frequency
24. | A. | Tesla B. | Weber
C. | Second D. | Hertz
A ratio of mmf and reluctance is known as
25. | A. | Flux B. | Power
C. | Resistance D. | Voltage
Hysteresis is graph between
26 A. | Flux and current B. | Magnetic field strength and flux
' density
C. | Voltage and current D. | Current and resistance
If emf induces due to relative motion between coil and magnetic field then such emf is
97 known as
" | A. | Statically induced emf B. | Dynamically induced emf
C. | BothAand B D. | None of the above
If value of instantaneous ac is given as I = 100 sinmt so what should be the RMS value
28 of |
" A. | 50A B. |62.4A
C. | 70.71A D. | 96.8A
Which of the following quantity cannot be measured by digital multimeter
29. | A. | Ac voltage B. | Alternating current
C. | Direct current D. | Resistance
30. | Lux meter is used to measure
| Light intensity | B. | Flux
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C. | Mmf

| D.

| Speed of machine

For forbidden energy band of energy gap value of lev is

31. [A [2.7*107) B. [1.6*10")
C. |1.6*10™J D. | 1Joule
Which of the following is not an example of conductor
32. | A. | Copper B. | Aluminium
C. | Mica D. | Silver
Which of the following is not an example of an insulator
33. | A. | Paper B. | Wood
C. | Cotton D. | steel
Megger in instrumentation is used to measure
34. | A. | Insulation resistance B. | Current
C. | Flux D. | Energy
Silicon is an example of
35. | A. | Conductor B. | Insulator
C. | Semi conductor D. | Super conductor
Which of the following is/are role of measuring instruments
36. | A. | Indicating B. | Recording
C. | Integrating D. | All of the above
How many terminals does wattmeter is consists of
37. |A. |2 B. |4
C. |3 D. |6
Which of the following is P type semiconductor
38. | A. | Bismuth B. | Arsenic
C. | Phosphorous D. | Boron
How many terminal does transistor consists of
39. |A |2 B. |4
C. |3 D. |5
How many layer are there in SCR
40. | A |2 B. |4
C. |3 D. |5
Which of the following is correct configuration of transistor
41. | A. | PNP B. | PPN
C. | NNP D. | None of the above
Application of SCR is/are
42. | A. | Invariable speed drive B. | In protective circuit
C. | Asaswitching device D. | All of the above
What is the full name of LDR
43. | A. | Light dividing resistor B. | Light dependent resistor
C. | Line deriving resistor D. | Least durable resistor
Which of the following is not the operating mode of 555 timer
44. | A. | Monostable B. | Astable
C. | Bistable D. | Multistable
Apllication of 555 timer is/are
45. | A. | Intimer B. | Inlogic clock
C. | Infrequency divider D. | All of the above
Which of the following instrument used to measure electrical energy
46. | A. | Watt hour meter B. | Wattmeter
C. | Ammeter D. | None of the above
Basic function of transformer is to change
47. | A. | Level of voltage B. | Power level
C. | Power factor D. | Frequency
48 In atransformer which of the following does not change

A. | Voltage

| B. | Current
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| Frequency | D. | All of the above
A transformer transforms
49. | A. | Voltage only B. | Current only
C. | Voltage and current D. | Frequency
If transformation ratio K>1 then that transformer is
50. | A. | Stepup B. | Step down
C. | Isolation transformer D. | None of the above
Basic loss/losses in transformer is/are
51. | A. | Copper loss B. | Iron loss
C. | Hysteresis loss D. | All of the above
To count copper loss in transformer which of the following test is performed
52. | A. | Short circuit test B. | Open circuit test
C. | No load test D. | None of the above
Which of the following is/are protective device
53. | A. | Fuse B. | MCB
C. | ELCB D. | All of the above
What is the full form of HRC fuse
54. | A. | High resistive circuit fuse B. | High rupturing capacity fuse
C. | High reversible current fuse D. | None of the above
Which of the following material can-not be used as fuse element
55. | A. | Silicon B. | Copper
C. | Zinc D. | silver
Which of the following is not an application of fuse
56. | A. | Bus-bar protection B. | Earth fault protection
C. | Leakage current protection D. | Induction motor protection
Least expensive protection for over current in low voltage system is
57. | A. | Rewirable fuse B. | Isolator
C. | Circuit breaker D. | Air break switch
MCB generally used for
58. | A. | Over load protection B. | Earth leakage protection
C. | BothAand B D. | None of the above
Which of the following is a part of field circuit in Dc generator
59. | A. | Armature B. | Brushes
C. | Yoke D. | Commutator
Which of the following is not a part of dc machine
60. | A. | Armature B. | Commutator
C. | Field Winding D. | Damping Winding
Commutator of a dc motor serves the purpose of
61. | A. | Changing AC to DC B. | Converting DC to AC
C. | Reducing Friction D. | Avoiding arc at brushes
Field coil of Dc generator is made up of
62. | A. | Mica B. | Copper
C. | Castiron D. | Carbon
Which of the following is not a part of armature system in dc generator
63. | A. | Armature Winding B. | Brushes
C. | Pole shoe D. | Commutator
Brush in dc machine is made up of
64. | A. | Carbon B. | Ceramic
C. | Iron D. | Lead
An induction motor works with
65. | A. | AConly B. | Dconly
C. | Both AC and DC D. | None of the above
66 An induction motor stator core made up of

A. | Aluminium | B.

| Copper
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| Silicon steel

| D.

| lead

Which of the following AC motor widely used?

67. | A. | Squirrel cage motor B. | Slip ring motor
C. | Double cage motor D. | Synchronous motor
Slip ring in induction motor are on
68. | A. | Field system B. | Rotor system
C. | Shaft D. | None of the above
Alternator converts
69 A. | Electrical energy into B. | Mechanical energy into electrical
' mechanical energy energy
C. | Heat to electricity D. | None of the above
Which of the following is not an application of squirrel cage motor
70. | A. | In blower B. | Indrilling machine
C. | Inlift D. | Water pump
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